<
=
b
al
|
=)
ar

[1~4] S2AI7F 50 kgl AbZt0] 108

(zzz=za))

70

60

50

40

30

20

10

789

—_—

K
ok
o|J
Ho
of

[e]

he

o

Vg gl A4

oj
o

W 4§ ke dnkelrba? ofgA <

o

mjn

.z_l
_z_.u

iloll
ol

-

__Oﬁ

68



AU Bl 7t M2 FAE ol = FO[U| 2o 7tn M2 ZAE Sl o
) )
10 10
5 ] 5
0 0
GTpS _ SRS _
aa [EO0ISH BiEEH| aektt | =FF aa [(EO0ISH HiEEH| aekt | +FF
5 @9 Wt gul) ol @ @3 AY 42 A gk, P g By
Y A Sh A4S U otk FL27k29 1 ol Foleska?

1A] 134 202 +2% 35%

6 3 gag=LE 49 ZABIY e AY | = Iy n 2
Ut} 799 oA 2ARHHE oj| A3yl U | 44 108158
Aolgta JAsita? 1 olf+= F7t8? = A 2

5km= m

5. aithIaim « 69



